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Divide two-digit numbers by a one-digit number, including using the
formal layout
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Divide the following, choosing the best method.

36+9= @) %-6=

56 - 8 = @ 92 +4 =

108 + 9= O 8-:7-=

Solve each calculation and then draw its shape in the correct circle. An example is shown.

81+9=@ ©x7=91 ©x3=96
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Solve the following.

Four friends shared 72 sweets evenly between them.

How many sweets did they each get?

Uri thought of a number and then multiplied it by 7. His answer was 98.

What was Uri’'s number?
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Divide three-digit numbers by a one-digit number, including using a
formal layout

0 Divide the following, choosing the best method.

999 = 9 = € 707+7=
448 = 4 = (e X 6 = 696
X 8 = 888 @ 968-8=

Now try these, using the formal layout.

369+ 3= O 728+4=

X 4 = 848 @ 644:7=
606 = 6 = @ x 8 =736
918+ 9= Ch) x9=711

Solve the following.

£776 was divided evenly between 8 charities.

90 60000 | @60

How much did each charity get? | £

o

819 plants were planted in 9 rows.

How many plants were in each row?

G There were 693 centimetres of wool in a ball. Ayida cutitinto 7 equal pieces.

How many centimetres long was each piece? cm
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